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1. ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÍÛÛµÛ¶Û ÍÛ×ýÛÛé›÷¶Û¶ÛÛé Ü¶ÛýÛ¾Û ÍÛ¾Û›ÛÈÛÛé …¶Ûé –Û¤ø©ÛÛ ÈÛÇ©ÛÁõ¶ÛÛ Ü¶ÛýÛ¾Û¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 14 
…¬ÛÈÛÛ 

 (…) ”Û˜ÛÙ¶ÛÛé ¸Ûó̈ ÛÛÅÛàïõÛ•Û©Û ÜÍÛ±ùÛ×©Û ˜Û˜ÛÛë. 7 
 (¼Û) ÍÛ¾ÛŠ©¸ÛÛþù¶Û ÈÛ’õ¶ÛÛ ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 7 
 
2. ˆ›ÛÁõÛýÛäî©Û ÐüÜÁõºõÛˆ¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. ˆ›ÛÁõÛýÛäî©Û ÐüÜÁõºõÛˆ Ðéü¥øÇ ¸Ûé§øà¶Ûà ¤æ×øïõÛ•ÛÛÇÛ¶Ûà ÍÛ¾Û©ÛäÅÛÛ 

ÍÛ¾Û›ÛÈÛÛé.   14 
…¬ÛÈÛÛ 

 (…) ¸Ûæ̈ ÛÙ ÐüÜÁõºõÛˆ …¶Ûé ˆ›ÛÁõÛ Ðéü¥øÇ ¸Ûé§øà¶Ûà ÍÛ¾Û©ÛäÅÛÛ¶Ûà ©ÛäÅÛ¶ÛÛ ïõÁõÛé. 7 
 (¼Û) Ýïõ¾Û©Û ½Ûéþù½ÛÛÈÛ Ðéü¥øÇ ¸Ûé§øà¶Ûà ÍÛ¾Û©ÛäÅÛÛ ÍÛ¾Û›ÛÈÛÛé. 7 
 
3. …Å¸ÛÐüÍ©Ûïõ ˆ›ÛÁõÛ¶Ûä× ”ÛÛ×̃ ÛÛÈÛÛÇà ¾ÛÛ×•ÛÁéõ”ÛÛ¶Ûä× ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé. 14 

…¬ÛÈÛÛ 

 ¼ÛÛé¾ÛÅÛ¶Ûä× ¾ÛÐü«Û¾Û ÈÛé̃ ÛÛ¨Û …ÛÈÛïõ¶Ûä× ¾ÛÛé¦éøÅÛ ˜Û˜ÛÛë. 
 
4. ½ÛÛ¦øÛ¶ÛÛé …¬ÛÙ …Û¸ÛÛé …¶Ûé ½ÛÛ¦øÛ¶ÛÛé …ÛµÛäÜ¶Ûïõ ÜÍÛ±ùÛ×©Û ˜Û˜ÛÛë. 14 

…¬ÛÈÛÛ 

 (…) ¶ÛºõÛ¶ÛÛ ïõÛé̂ ¸Û¨Û ¼Ûé ÜÍÛ±ùÛ×©ÛÛé ÍÛ¾Û›ÛÈÛÛé. 7 
 (¼Û) ýÛäÅÛÁõø ¸Ûó¾ÛéýÛ ÜÈÛÉÛé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 7 
 
5. ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ þùÁéõïõ ¸ÛóÊ¶Û ¾ÛÛ¤éø ËÛéÌ¥ø ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 14 
 (1) ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ ¼Û›ÛÁõ¾ÛÛ× MR = MC = AR = AC ÉÛîýÛ ÐüÛéýÛ ™öé ? 
  (a) ˆ›ÛÁõÛýÛäî©Û ÐüÜÁõºõÛˆ (b) ¸Ûæ̈ ÛÙ ÐüÜÁõºõÛˆ 
  (c) ˆ›ÛÁõÛé   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (2) ©Ûæ¤øïõ ¾ÛÛ×•Û Áéõ”ÛÛ¶ÛÛé ¶Ûà˜Ûé¶ÛÛé ÜÐüÍÍÛÛé ÍÛÛ¸Ûé“Û Áõà©Ûé _____ ÐüÛéýÛ ™öé. 
  (a) ÈÛµÛä ÍÛÛ¸Ûé“Û   (b) ÈÛµÛä …¶Û¸Ûé“Û 
  (c) ÍÛ×̧ Ûæ̈ ÛÙ …¶Û¸Ûé“Û  (d) ÍÛ×̧ Ûæ̈ ÛÙ ÍÛÛ¸Ûé“Û 
 (3) ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ïõýÛä ¸Ûæ̈ ÛÙ ÐüÜÁõºõÛˆÈÛÛÇÛ ¼Û›ÛÁõ¶Ûä× ÅÛ“Û¨Û ¶Û¬Ûà ? 
  (a) ÍÛ¾ÛÛ¶Û•Ûä̈ Ûà ÈÛÍ©Ûä  (b) ÍÛÛµÛ¶ÛÛé¶Ûà ÍÛ×̧ Ûæ¨ÛÙ •ÛÜ©ÛÉÛàÅÛ©ÛÛ 
  (c) ¾Ûäî©Û ¸ÛóÈÛéÉÛ Ü¶Û•ÛÙ¾Û¶Û (d) ÈÛÍ©Ûä ÜÈÛïõÅÛ¶Û 
 (4) ÍÛ¾Û Š©¸ÛÛþù¶Û ÈÛ’õ¶Ûà ¼ÛÜÐü•ÛÛëÇ©ÛÛ ¼Ûé ÍÛÛµÛ¶ÛÛé ÈÛ˜˜Ûé¶ÛÛ _____ ÍÛà¾ÛÛ×©Û …ÈÛéœ÷þùÁõ¶Ûé þùÉÛÛÙÈÛé ™öé. 
  (a) ÈÛµÛ©Ûä   (b) –Û¤ø©Ûä 
  (c) ÍÛ¾ÛÛ¶Û   (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
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 (5) ÍÛ¾ÛýÛ¶ÛÛ ÅÛÛ×¼ÛÛ•ÛÛÇé Š©¸ÛÛþù¶Û …¶Ûé ÍÛÛµÛ¶ÛÛé¶ÛÛ ïõþù ÈÛ˜˜Ûé¶ÛÛ ÍÛ×¼Û×µÛ¶Ûé ÉÛé¶ÛÛ ÈÛ¦éø þùÉÛÛÙÈÛÈÛÛ¾ÛÛ× 
…ÛÈÛé ™öé ? 

  (a) ïõþù ÈÛÇ©ÛÁõ¶ÛÛ Ü¶ÛýÛ¾Û 
  (b) –Û¤ø©ÛÛ ÍÛà¾ÛÛ×©Û ©ÛäÌ¤øà•Ûä̈ Û¶ÛÛé Ü¶ÛýÛ¾Û 
  (c) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÍÛÛµÛ¶Û ÍÛ×ýÛÛé›÷¶Û¶ÛÛé Ü¶ÛýÛ¾Û  
  (d) …éïõ¸Û¨Û ¶ÛÜÐü 
 (6) šýÛÛÁéõ ¸Ûé§øà¶Ûé ¾ÛÇ©ÛÛ …Û×©ÛÜÁõïõ ïõÁïõÍÛÁõÛéé¶ÛÛ ÅÛÛ½ÛÛé¶Ûé …Û×©ÛÜÁõïõ …ÅÛÛ½Û ÈÛ¦éø ©Û¤øÍ¬Ûàïèõ©Û 

ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ©ýÛÛÁéõ ïõþù ÈÛÇ©ÛÁõ _____ ÐüÛéýÛ ™öé. 
  (a) ÈÛµÛ©Ûä   (b) –Û¤ø©Ûä 
  (c) ÜÍ¬ÛÁõ   (d) ÉÛæ¶ýÛ 
 (7) ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛÛ¾ÛÛ×¬Ûà ïõýÛÛé ”Û˜ÛÙ ÈÛ’õ îýÛÛÁéõýÛ ‘U’ …ÛïõÛÁõ¶ÛÛé ÐüÛé©ÛÛé ¶Û¬Ûà ? 
  (a) ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ ÈÛ’õ  (b) ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ ÈÛ’õ 
  (c) ÍÛÁéõÁõÛÉÛ …ÜÍ¬ÛÁõ ”Û˜ÛÙ ÈÛ’õ (d) ÍÛÁéõÁõÛÉÛ ÜÍ¬ÛÁõ ”Û˜ÛÙ ÈÛ’õ 
 (8) …éºõ.…é¾Û. ¶ÛÛˆ¤ø¶ÛÛ ¾Û©Ûé ¶ÛºõÛé _______ ¾ÛÛ¤éø ¾ÛÇé ™öé. 
  (a) …ÛÜ¬ÛÙïõ •ÛÜ©ÛÉÛàÅÛ©ÛÛ  (b) ¶ÛÈÛ¸ÛóÈÛ©ÛÙ¶ÛÛé 
  (c) …Ü¶ÛÜÊ˜Û©Û©ÛÛ ÍÛÐü¶Û ïõÁõÈÛÛ (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
 (9) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä ˆ›ÛÁõÛýÛäî©Û ÐüÜÁõºõÛˆ ¾ÛÛ¤éø ÍÛÛ˜Ûä ¶Û¬Ûà ? 
  (a) ¸Ûé§øà…Ûé ÈÛ˜˜Ûé ‹˜Ûà ¾ÛÛªÛÛ¾ÛÛ× …Û×©ÛÁõ…ÈÛÅÛ×¼Û¶Û 
  (b) ÈÛÍ©Ûä ÜÈÛïõÅÛ¶Û 
  (c) ÅÛÛ×¼ÛÛ •ÛÛÇé ÍÛÛ¾ÛÛ¶ýÛ ¶ÛºõÛé  
  (d) ÈÛé̃ ÛÛ¨Û ”Û˜ÛÙ 
 (10) ïõýÛÛ …¬ÛÙÉÛÛÍªÛà¶ÛÛ ¾Û©Ûé ¾Ûé¶Ûé›÷ÁõÛé ¶ÛºõÛ¶Ûé ¾ÛÐü«Û¾Û ïõÁõÈÛÛ¶Ûé ¼ÛþùÅÛé ¸Ûé§øà¶ÛÛ ÈÛèÜ±ù¶ÛÛ ÍÛ¾Û©ÛäÅÛà©Û 

þùÁõ¶Ûé ¾ÛÐü«Û¾Û ¼Û¶ÛÛÈÛÈÛÛ¶ÛÛé ¸ÛóýÛÛÍÛ ïõÁéõ ™öé ? 
  (a) …ÛÁõ. ¾ÛÛÁõàÍÛ  (b) ïäõ¶ÛÛë¤ø 
  (c) ¼ÛÁõ¤Öø¶¦ø   (d) ¸ÛÛéÅÛ ÍÈÛà¡öà 
 (11) ÍÛ×ýÛäî©Û ¶ÛºõÛ ¾ÛÐü«Û¾ÛàïõÁõ¨ÛÈÛÛÇÛ ›Ûé¦øÛ¨Û¾ÛÛ× ÍÛ×ýÛäî©Û ¶ÛºõÛé ©ýÛÛÁéõ ¾ÛÐü«Û¾Û ¼Û¶ÛÉÛé šýÛÛÁéõ. 
  (a) Š²Ûé•Û¶ÛÛ MR ¼ÛÁõÛ¼ÛÁõ Š²Ûé•Û¶Ûä× MC ¬ÛÛýÛ. 
  (b) ¸Ûé§øà¶ÛÛ MR ¼ÛÁõÛ¼ÛÁõ ¸Ûé§øà…Ûé¶Ûä× MC ¬ÛÛýÛ. 
  (c) ¸Ûé§øà¶ÛÛ MR ¼ÛÁõÛ¼ÛÁõ Š²Ûé•Û¶Ûä× AR ¬ÛÛýÛ. 
  (d) Š¸ÛÁõ¶Ûä× …éïõ¸Û¨Û ¶ÛÜÐü. 
 (12) …éÈÛà ¼Û›ÛÁõ ¸ÛÜÁõÜÍ¬ÛÜ©Û ›÷é¾ÛÛ× …Å¸Û ÍÛ×”ýÛÛ¾ÛÛ× ¸Ûé§øà…Ûé ÍÛ¾ÛÛ¶Û•Ûä̈ Ûà …¬ÛÈÛÛ Ü½Û·Û©ÛÛÈÛÛÇà 

ÈÛÍ©Ûä…Ûé¶Ûä× ÈÛé̃ ÛÛ¨Û ïõÁéõ ™öé ©Ûé _____ Áõà©Ûé …ÛéÇ”ÛÛýÛ ™öé. 
  (a) ¸Ûæ̈ ÛÙ ÐüÜÁõºõÛˆ  (b) ˆ›ÛÁõÛé 
  (c) …Å¸ÛÐüÍ©Ûïõ ˆ›ÛÁõÛé  (d) …éïõ¸Û¨Û ¶ÛÜÐü 
 (13) ”Û˜ÛÙ …¶Ûé Š©¸ÛÛþù¶Û ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ÉÛä× ïõÐéüÈÛÛýÛ ™öé ? 
  (a) Š©¸ÛÛþù¶Û ÜÈÛµÛéýÛ  (b) Š¸Û½ÛÛé•Û ÜÈÛµÛéýÛ 
  (c) ”Û˜ÛÙ ÜÈÛµÛéýÛ   (d) …éïõ¸Û¨Û ¶ÛÜÐü 
 (14) …Å¸ÛÐüÍ©Ûïõ ˆ›ÛÁõÛþùÛÁõ ¸Ûé§øà…Ûé¾ÛÛ×¬Ûà ÍÛÛíé¬Ûà þù“Û ÍÛ×̃ ÛÛÅÛ¶ÛÈÛÛÇà ¸Ûé§øà ¸Ûó¬Û¾Û Ýïõ¾Û©Û ºéõÁõºõÛÁõ 

›ÛÐéüÁõ ïõÁéõ …¶Ûé Š²Ûé•Û¶Ûà …¶ýÛ ¸Ûé§øà…Ûé ©Ûé¶Ûä× …¶ÛäÍÛÁõ¨Û ïõÁéõ ©Ûé ÉÛä× ïõÐéüÈÛÛýÛ ™öé ? 
  (a) ¼ÛéÁõÛé¾Ûé¤Öøàïõ Ýïõ¾Û©Û ¶Ûé©Ûè©ÈÛ (b) …Ûé™öÛ ”Û˜ÛÙ Ýïõ¾Û©Û ¶Ûé©Ûè©ÈÛ 
  (c) ¸Ûó½ÛÛÈÛÉÛÛÇà ¸Ûé§øà Ýïõ¾Û©Û ¶Ûé©Ûè©ÈÛ (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 

________ 
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1. Explain the law of variable proportion and state the importance of law of diminishing 

returns.   14 

OR 

 (a) Discuss the traditional theory of cost. 7 

 (b) Explain the characteristics of Isoquants. 7 

 

2. State the characteristics of monopolistic competition. Explain the short run equilibrium 

of a firm under monopolistic competition. 14 

OR 

 (a) Compare the equilibrium of a firm under perfect competition and monopoly. 7 

 (b) Explain firm’s equilibrium under price discrimination. 7 

 

3. Explain the Kinky demand curve model of oligopoly. 14 

OR 

 Discuss Bomal’s model of sales revenue maximization. 

 

4. Define rent and discuss the modern theory of rent. 14 

OR 

 (a) Explain any two theories of profit. 7 

 (b) Write short note on Euler’s theorem. 7 

 

5. For each of the following questions write the best answer : 14 

 (1) MR = MC = AR = AC is possible under 

  (a) monopolistic competition (b) perfect competition 

  (c) monopoly (d) all of the above 

 (2) The lower portion of kinked demand curve is relatively 

  (a) more elastic (b) more inelastic 

  (c) perfectly inelastic (d) perfectly elastic 

 (3) Which of the following is not the characteristic of perfect competitive market ? 

  (a) homogeneous good (b) perfect mobility of factors 

  (c) free entry exit (d) product differentiation 

 (4) The convexity of isoquant shows the marginal rate of substitution between two 

factors ________. 

  (a) increases (b) diminishes 

  (c) same (d) all of the above 
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 (5) The relationship between outputs and scale of inputs in the long run is shown by 

  (a) The law of returns to scale 

  (b) The law of diminishing marginal utility 

  (c) The law of variable proportion 

  (d) none of the above 

 (6) When internal economies enjoyed by a firm are neutralized by internal 

diseconomies, the returns to scale are ________. 

  (a) increasing (b) decreasing 

  (c) constant (d) zero 

 (7) Which of the following cost curve is never ‘U’ shaped ? 

  (a) average cost curve (b) marginal cost curve 

  (c) average variable cost curve (d) average fixed cost curve 

 (8) According to Prof. F.M. Knight, profit is received for  

  (a) Economic dynamics (b) Innovations 

  (c) Uncertainty bearing (d) all of the above 

 (9) Which of the following is not true about monopolistic competition ? 

  (a) high degree of interdependence among the firms. 

  (b) product differentiation 

  (c) normal profit in the long run 

  (d) advertising expenditure 

 (10) According to which economist managers do not maximise profits but instead they 

seek to maximise balanced rate of growth of the firm. 

  (a) R. Marris (b) Cournot 

  (c) Bertrand (d) Paul Sweezy 

 (11) In joint profit maximisation cartel, joint profits will be maximised when 

  (a) the industry MR equals the industry MC 

  (b) the firm’s MR equal the firm’s MC 

  (c) the firm’s MR equals the industry AR 

  (d) none of the above 

 (12) The market situation in which there are few firms selling homogeneous or 

differentiated products is known as 

  (a) Perfect competition (b) Monopoly 

  (c) Oligopoly (d) None of the above 

 (13) The relation between cost and output is called  

  (a) production function (b) consumption function 

  (c) cost function (d) none of the above 

 (14) The firm among the oligopolistic firms with the wisest management which 

announces a price change first and then followed by other firms in the industry is 

known as the 

  (a) Barometric price leadership 

  (b) Low cost price leadership 

  (c) Dominant firm price leadership 

  (d) All of the above 

    


